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BIRZEIT UNIVERSITY
Faculty of Engineering
Electrical And Computer Engineering Department
Communication Systems— ENEFE 3309
’ Suggested Problems
Instructors: Dr. Ashraf Rimawi Nov.i)& 2021
Problem: #1 (10 points): Consider the fnlknWing modulator system shown below. Assume c(f) =
A.cos (2w f.t),and
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a. Represemz g{t} in terms of the trigonometric Fourier series signal.
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b. Implement a suitable system inside Black Box to get a signal y(t) = A, [ 1 + k,m(t)] cos2rf ).
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¢. Plot the spectrum of the signal y (&)

BMEo{ on s ‘O‘O&n:oj s "\)Ow'\f“\’.)-
W= LTk Lmw]) e it ocw= A “’S(WLJ'

= A"' Lot = m e ) Cos(’?—l't'ﬁd-)

sy = A iy ﬂ ..‘.As. S‘(f,f_-ﬁ - ____H(f 'Et\ ‘\'—'— (£f"£‘)

N M(—H ﬁ ,L

LR &%T *OCR’L‘ &fﬁh-

@owaf = R .:___)
STLﬁ)ENTS HUB.SOMe  m t4) = ﬂm cos(1mht) = (f)= hon LAIPIP SRS
S[rdh) = Ao scfheh) v b S(F L5
. —_H‘*‘(MLDA_{ - 5(f+ﬂ_ﬁ )+ i §f£+£+£«)

=Ty = (B 2 + &) )

GOOD LUCK @&

* (3)1}mﬁrﬁ)f

onymous
TS|
ha




